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| can use trigonometric ratios and the Pythagorean Theorem to solve right triangles.

[6-1 1 can use the Pythagorean Theorem:

G6-2 | can find the side lengths of special right triangles:

Warm-up | isosceles right triangle

450-45°-90°

G6-2

half an equilateral triangle
30°-60°-90°

G6-3 | can Label the sides of a right triangle and write the trig ratio.

G6-4 | understand that by similarity, side ratios in right triangles are properties of the angles in the triangle.

G6-5_1 can use trigonometry to find missing side lengths or angles.
Warm-up | Steps: CAH TOA
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2. Write the equation PP (135 (500 = ¥
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G6-6_1 can apply trig ratios and the Pythagorean theorem.

Warm-up

=*+36-7_| can use the law of sines to find missing side lengths in any triangle.
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